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QUESTION 1

You want to display 5 percent of the employees with the highest salaries in the EMPLOYEES table. Which query will
generate the required result? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

FETCH can only be used with FIRST OR NEXT. The syntax is: 

FETCH { FIRST | NEXT } [integer-literal | ? ] {ROW | ROWS} ONLY OFFSET { integer-literal | ? } {ROW | ROWS} 

References: 

 

QUESTION 2

View the Exhibit and examine the structure of the PRODUCTS table. 
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You want to display the category with the maximum number of items. 

You issue the following query: 

SQL>SELECT COUNT(*), prod_category_id 

FROM products 

GROUP BY prod_category_id 

HAVING COUNT(*) = (SELECT MAX(COUNT(*)) FROM products); 

What is the outcome? 

A. It executes successfully and gives the correct output. 

B. It executes successfully but does not give the correct output. 

C. It generates an error because the subquery does not have a GROUP BY clause. 

D. It generates an error because = is not valid and should be replaced by the IN operator. 

Correct Answer: C 

 

QUESTION 3

You need to create a table named ORDERS that contain four columns: 

1.

 AN ORDER_ID column of number data type 

2.

 A CUSTOMER_ID column of number data type 

3.

 AN ORDER_STATUS column that contains a character data type 

4.

 A DATE_ORDERED column to contain the date the order was placed. 
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When a row is inserted into the table, if no value is provided when the order was placed, today\\'s date should be used
instead. 

Which statement accomplishes this? 

A. CREATE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status VARCHAR2 (10),
date_ordered DATE = SYSDATE); 

B. CREATE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status VARCHAR2 (10),
date_ordered DATE DEFAULT SYSDATE); 

C. CREATE OR REPLACE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status
VARCHAR2 (10), date_ordered DATE DEFAULT SYSDATE); 

D. CREATE OR REPLACE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status
VARCHAR2 (10), date_ordered DATE = SYSDATE); 

E. CREATE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status NUMBER (10),
date_ordered DATE = SYSDATE); 

F. CREATE TABLE orders (order_id NUMBER (10), customer_id NUMBER (8), order_status NUMBER (10),
date_ordered DATE DEFAULT SYSDATE); 

Correct Answer: B 

Requirement that Order_Status should be a character data type 

Not E: Order_status must be a character data type. There is also a syntax error. 

 

QUESTION 4

Which are iSQL*Plus commands? (Choose all that apply.) 

A. INSERT 

B. UPDATE 

C. SELECT 

D. DESCRIBE 

E. DELETE 

F. RENAME 

Correct Answer: D 

The only SQL*Plus command in this list : DESCRIBE. It cannot be used as SQL command. This command returns a
description of tablename, including all columns in that table, the datatype for each column and an indication of whether
the column permits storage of NULL values. 

Incorrect answer: 

A. INSERT is not a SQL*PLUS command 
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B. UPDATE is not a SQL*PLUS command 

C. SELECT is not a SQL*PLUS command 

E. DELETE is not a SQL*PLUS command 

F. RENAME is not a SQL*PLUS command 

Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 7 

 

QUESTION 5

Which statement adds a constraint that ensures the CUSTOMER_NAME column of the CUSTOMERS table holds a
value? 

A. ALTER TABLE customers ADD CONSTRAINT cust_name_nn CHECK customer_name IS NOT NULL; 

B. ALTER TABLE customers MODIFY CONSTRAINT cust_name_nn CHECK customer_name IS NOT NULL; 

C. ALTER TABLE customers MODIFY customer_name CONSTRAINT cust_name_nn NOT NULL; 

D. ALTER TABLE customers MODIFY customer_name CONSTRAINT cust_name_nn IS NOT NULL; 

E. ALTER TABLE customers MODIFY name CONSTRAINT cust_name_nn NOT NULL; 

F. ALTER TABLE customers ADD CONSTRAINT cust_name_nn CHECK customer_name NOT NULL; 

Correct Answer: C 
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